BC Calculus – FDW 3rd Edition – Section 7.5 Even Answers

Quick Review 7.5
2.(a) e – 1  (b) 1.718   4. 15   6. 
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Section 7.5

2. 3.847 J   4. 19.580 J   6. 5880 J   
8.(a) 200 lb/in (b) 400 in-lb (c) 8 in   10.(a) 300 lb (b) 18.75 in-lb   
12.(a) 
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 where Pressure and Force are constant. (b) -37,968.75 in-lb
14.(a) Note that 62.4 lb/ft3 is not weight. It’s not quite mass density, but is a density concept. The idea in physics is that the pressure (P = F/Area) at a depth of ‘h’ is due to the weight of the column of the fluid above (whose cross-sectional area is A, and whose length is ‘h’).  Weight density of 64.5 lb/ft3 means that the weight of such a column would be 64.5 (Ah) = Force. So pressure = F/A = 64.5h. (btw… using mass density, 
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 kg/m3, P = 
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gh, since w = mg) Anyway… the plan is to use horizontal strips (all at the same depth) with subintervals, dh, and then sum them up. (b) 7987.2 lb   16.(a) see 14(a) above  (b) 1506.1 lb
18. 7,238,229 ft-lb   20. 91.3244 in-oz   22. 34,582.65 ft-lb   24. 31 hr   26. 4.2 lb  
28. ¼   30.(a) .34 or 34% (b) 6.5   32. Integration here is a good approximation for the area.

34. False. 3 times as much work is required.   36. E   38. B   40. 
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44. 85.1 ft-lb   46. 64.6 ft-lb   48. 110.6 ft-lb  

Quick Quiz – Sections 7.4 – 7.5

2. D   4.(a) 
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Chapter 7 – Review Exercises

2. 31.361 gal   4. 14 g   6. 1   8. 1/6   10. 30.375   12. 4   14. 2.1043   16. 
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18. 5.7312   20. 
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   22.(a) 
[image: image18.wmf]4

p

 (b) 
[image: image19.wmf]2

k

p

 (c) 
[image: image20.wmf]1

p

   24. 
[image: image21.wmf]2

4

p

   26. 
[image: image22.wmf]33

28

3

29.3215

ftft

p

»


28. 5.2454   30. ‘a’ is true. Same domain in either case.   32.(a) 4000 J (b) 640 J (c) 4640 J

34. 12 J, 213.3 J   36. 113.097 in-lb   38. base = 6.639 lb, front & back 5.773 lb, sides 9.484 lb 

40. .2051 or 20.5%   42.(a) 68.27% (b) 95.45%   44. 
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  52. 5.02   
54.(a) 
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    (b) 
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, Write A = 5.231 and B = 18.767 
    (c) 
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